
 

What is the cubed root of: Answer the following questions: 
              

1  19683 =   11  7 × 5 =   

        
    

  

2  274625 =   12  21 × 5 =   

        
    

  

3  884736 =   13  19 × 12 =   

        
    

  

4  300763 =   14  7 × 14 =   

        
    

  

5  46656 =   15  17 × 12 =   

        
    

  

6  175616 =   16  13 × 15 =   

        
    

  

7  216000 =   17  15 × 13 =   

        
    

  

8  314432 =   18  14 × 8 =   

        
    

  

9  35937 =   19  16 × 20 =   

        
    

  

10  103823 =   20  13 × 17 =   
              


